
BOX CONTENTS
84C-241    BOX  1/4

Description

C1

C2

C4

F2

G1

H

I

J1

L1

L2

L3

L4

M1

M2

N

Triangular

Connector 1

Triangular

Connector 2

Triangular

Connector

Big Roof Beam 2

Roof Beam

Connector 1

Big Roof Middle

Beam

Middle Beam

Lower Connector

Support Tube 1

Big Roof Lower

Tube 1

Big Roof Lower

Tube 2

Big Roof Lower

Tube 3

Big Roof Lower

Tube 4

Big Roof Side

Tube 1

Big Roof Side

Tube 2

Big Roof Small

Beam

Sketch

QTY

2 pcs

2 pcs

2 pcs

1 pc

1 pc

6 pcs

6 pcs

3 pcs

2 pcs

2 pcs

2 pcs

2 pcs

2 pcs

2 pcs

16 pcs

O

Q

R1

R2

T

U

Small Beam Presser

Press Panel

Big Roof Cover 1

Big Roof Cover 2

Catch

Roof Side Cover

8 pcs

6 pcs

2 pcs

1 pc

2 pcs

4 pcs

F1

Big Roof Beam 1

1 pc



P

Hook
1 pcs

S

Steel Pin

12 pcs

BOX CONTENTS
84C-241    BOX  3/4

Description

Sketch

QTY

01

02

05

07

08

13

Outer Long Right

Beam（Long）

Outer Long Left

Beam（Long）

Inner Middle Beam

Inner Short Beam

（Long）

Post

Triangular

Support Beam

2 pcs

2 pcs

2 pcs

4 pcs

2 pcs

4 pcs

BOX CONTENTS
84C-241    BOX  2/4

Description

Sketch

QTY

P1

P2

Big Roof Cover

Small Roof Cover

10 pcs

4 pcs



Description Sketch

II

JJ

KK

LL

MM

NN

OO

PP

QQ

RR

UU

WW

Z1

Z2

Z3

Z4

Bolt M8*35

Bolt M6*55

Bolt M8*25

Non-slip Nuts
M10

Flat Washer
M8

Flat Washer
M10
Screw

M10*80
Stake Φ8*180

Bolt M6*35

M3 Drill

Non-slip nuts
M8

Bolt M8*50

Wrench M6

Allen Key M8

Wrench M8

Wrench M10

QTY

16 pcs

12 pcs

24 pcs

8 pcs

84 pcs

24 pcs

8 pcs

8 pcs

8 pcs

2 pcs

14 pcs

14 pcs

2 pcs

1 pcs

2 pcs

2 pcs

AA

BB

CC

DD

EE

FF

HH

Bolt M10*205

Flat Washer
M6

Screw M5*40

Nut M6

Screw M5*30

Bolt M6*15

Bolt M8*35

8 pcs

140 pcs

72 pcs

12 pcs

72 pcs

108 pcs

16 pcs

BOX CONTENTS 84C-241    BOX  3/4



BOX CONTENTS
84C-241    BOX  4/4

Description

Sketch

QTY

03

04

05

06

08

10

11

14

15

B

C

Outer Long Left

Beam（Short）

Outer Long Right

Beam（Short）

Inner Middle Beam

Inner Short Beam

（Short）

Post

Arc Support 1

Arc Support 2

Triangular Middle

Support Beam

Triangular Frame

Slanting Beam

Base Cover

Base

2 pcs

2 pcs

2 pcs

4 pcs

2 pcs

4 pcs

4 pcs

2 pcs

4 pcs

4 pcs

4 pcs


	图纸和视图
	模型

	2.pdf
	图纸和视图
	模型


	2.pdf
	图纸和视图
	模型


	3.pdf
	图纸和视图
	模型


	4.pdf
	图纸和视图
	模型





